
1 2 483264128
27 26 25 24 23 22 21 20

1 1 1 1 1 1 1 1

= 255+ 16+ + + + + +

This binary 
number...

Equals this 
decimal number

1 0 4000128
27 26 25 24 23 22 21 20

1 0 0 1 0 1 0 1

= 149+ 16+ + + + + +

This binary 
number...

Equals this 
decimal number

Binary t o Decimal

1  1  0  0  1  0  0  1

0  1  0  0  0  1  1  1

1  0  0  0  0  1  1  0

0  0  0  1  0  0  0  1

1 0  0  0  1  0  0  0

0  0  1  1  1  1  1  0

0  1  0  1  0  1  0  1

1  0  1  0  1  0  1  0

=

=

=

=

=

=

=

=

1.

2.

3.

4.

5.

6.

7.

8.

0  1  1  0  1  1  1  0

0  0  0  1  0  1  1  1

1  1  1  1  1  0  0  0

1  1  1  0  0  0  1  0

0  0  0  1  1  1  0  1

0  1  1  0  1  1  1  1

1  0  0  1  0  1  1  1

1  1  1  0  0  1  0  1

=

=

=

=

=

=

=

=

9.

10.

11.

12.

13.

14.

15.

16.

Convert  each binary number into a decimal number.

 
 

Convert the following to Binary: 
 17. 204 = ________________________ 19. 196 = _________________________ 
 
 18. 176 = _________________________ 20. 250 = _________________________ 
 


